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Notes
Chapter — 8
Comparing Quantities

» Ratio: Comparing by division is called ratio. Quantities written in ratio have the same unit. Ratio has no
unit. Equality of two ratios is called proportion.
Product of extremes = Product of means

e Percentage: Percentage means for every hundred. The result of any division in which the divisor is 100 is a
percentage. The divisor is denoted by a special symbol %, read as percent.
Profit and Loss:

(i) Cost Price (CP): The amount for which an article is bought.
(i) Selling Price (SP): The amount for which an article is sold.

o Additional expenses made after buying an article are included in the cost price and are known as overhead
expenses. These may include expenses like amount spent on repairs, labour charges, transportation, etc.
Discount is a reduction given on marked price. Discount = Marked Price — Sale Price.

» Discount can be calculated when discount percentage is given. Discount = Discount % of Marked Price
Additional expenses made after buying an article are included in the cost price and are known as

e overhead expenses. CP = Buying price + Overhead expenses
Sales tax is charged on the sale of an item by the government and is added to the Bill Amount. Sales tax =
Tax% of Bill Amount

o Simple Interest: If the principal remains the same for the entire loan period, then the interest paid is called
simple interest. SI=PxRxT / 100

e Compound interest is the interest calculated on the previous year’s amount (A =P + 1)

(1) Amount when interest is compounded annually =P(1+R2100)n P is principal, R is rate of interest, n is time
period

(i) Amount when interest is compounded half yearly

=P(1+R / 100)*"[R/ 2 is, half yearly rate and 2n = number 'half-years'
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CHAPTER -8
Comparing Quantities (Ex.8.1)

1. Find the ratio of the following:

(a) Speed ofacycle 15 km per hour to the speed of scooter 30 km per hour.
(b) 5mto10km
(c) 50 paisetoRs. 5

Ans. (a) Speed of cycle = 15 km/hr

Speed of scooter = 30 km/hr
Hence ratio of speed of cycle to that of scooter =15:30 = —_—= l =1:2
¥

(b) ".* 1 km =1000m
. 10 km = 1031000 = 10000m

". Ratio = A m = 1 =1:2000

10000m 2000
(c) "." Rs 1 =100 paise

. Rs5= % 100 =500 paise
1
10

Hence Ratio= &[] paige = =1:10

500 paise

2. Convertthefollowingratiostopercentages: (a) 3:4 (b) 2:3

-

3
Ans. (a) Percentage of 3:4 = —= 100 % =75%
4

R
0% =66=2%
3

3. 72%o0f25studentsareg
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Ans. Total number of students = 25

=%
Number of good students in mathematics = 72% of 25 = —— %25 =18
100
Number of students not good in mathematics =25 — 18 =7
Hence percentage of students not good in mathematics = — %100 =28%
25

4. Afootball teamwon 10 matches out of the total number of matches they played. If theirwin
percentage was 40, then how many matches did they play inall?

Ans. Lettotal number of matches be . According

to question,
40% of total matches = 10

— 40% of X =10

= ﬂxrzm
100
10 =100
== ¥x=—— =25

10

Hence total number of matches is 25.
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5. IfChameli had Rs. 600 left after spending 75% of her money, how much money did she have in the
beginning?

Ans.Total percentage of money shedidn'tspent= 100%-75%=25%
According to question,

— 25% =600
— 1% =600/25
= 100% % x 100

Hence the money in the beginning was Rs 2,400.

6. 1160% peopleinacity like cricket, 30%o like football and the remaining like other games, then what
percentofthe people like other games? Ifthe total number of people are 50 lakh, find the exact number

who like each type of game.

Ans. Number of people who like cricket = 60%

Number of people who like football = 30%

Number of people who like other games = 100% — (60% + 30%) = 10% Now
Number of people who like cricket = 60% 0f50,00,000

64 =50, 00,000 =30,00,000

100
And Number of people who like football

= 30% of 50,00,000

ﬂ x50, 00,000 =15,00,000

100

. Number of people who like other games = 10% of 50,00,000
10,

== 30_00,000 =5,00,000

100

Hence, number of people who like other games are 5 lakh.



Ex.8.2
1. Amangot10%increaseinhissalary. IfhisnewsalaryisRs.1,54,000, find hisoriginal salary.

Ans. Let original salary be Rs.100.
Therefore Newsalaryi.e., 10%increase
=100 + 10 = Rs.110

* NewsalaryisRs.110, whenoriginal salary=Rs.100 .".

New salary is Rs.1, when original salary = @
110
. . 100 . _
New salary is Rs.1,54,000, when original salary = —— 154000 =Rs.1,40,000
110

Hence original salary is Rs. 1,40,000.

2. OnSunday 845 peoplewenttothe Zoo. OnMonday only 169 people went. Whatisthe percent decrease in
the people visiting the Zoo on Monday?

Ans. On Sunday, people went to the Zoo = 845 On
Monday, people went to the Zoo = 169

Number of decrease in the people = 845 — 169 = 676

67
Decrease percent = —x100 =80%
845

-

Hence decrease in the people visiting the Zoo is 80%.

3. Ashopkeeperbuys80articlesfor Rs.2,400andsellsthemforaprofitof 16%. Find the selling price of

one article.

Ans.No. of articles = 80



Cost Price of articles =Rs. 2,400

And Profit =16%

"." CostpriceofarticlesisRs.100, thensellingprice=100+16=Rs.116 .". Cost

price of articles is Rs.1, then selling price = E
100
i : ;. : ‘ 116
“Cost price of articles is Rs.2400, then selling price = ——x 2400 =Rs.2784
100

Hence, SellingPriceof80articles=Rs.2784 Therefore Selling Price of 1 article

27

= = Rs.34.80
&0

4. ThecostofanarticlewasRs.15,500, Rs.450werespentonitsrepairs. Ifitsold fora profit of 15%,
find the selling price of the article.

Ans.Here, C.P. =Rs.15, 500 and Repair cost = Rs.450 Therefore Total Cost Price = 15500 + 450 =
Rs.15,950 Let C.P. be Rs.100, thenS.P. =100+ 15=Rs.115
" WhenC.P.isRs.100,thenS.P.=Rs.115 .".

115
100

When C.P. isRs.1, then SP =

When C.P. is Rs.15,950, then S.P.=

115
100

% 159480 = Rs.18, 342.50

5. AVCRand TVwereboughtforRs.8,000each. Theshopkeeper madealossof4%on the VCR and a

profit of 8% on the TV. Find the gain or loss percent on the whole transaction.

Ans.Cost price of VCR = Rs.8000 and Cost price of TV =Rs.8000 Total



Cost Price of botharticles

= Rs.8000 + Rs.8000 = Rs. 16,000
Now VCR is sold at 4% loss.

Let C.P. of each article be Rs.100, then S.P. of VCR =100 — 4 = Rs.96
"." WhenC.P.isRs.100,thenS.P.=Rs.96 ..

%
100

When C.P.isRs.1, then S.P. =

When C.P. is Rs.8000, then S.P.

E #8000 =Rs.7,680
100

And TV is sold at 8% profit, then S.P. of TV = 100 + 8 = Rs.108
" WhenC.P.isRs.100,thenS.P.=Rs.108 .".

108
100

When C.P. isRs.1, then S.P. =

When C.P. is Rs.8000, then S.P.=

@ 8000 =Rs.8,640

100

than Total S.P = =Rs.7,680 + Rs.8,640=Rs. 16,320

Since S.P. >C.P.,

Therefore Profit = S.P. — C.P.

= 16320 — 16000 = Rs.320

Profit
And Profit% = ront = 100

Cost Price




ey
=220 100 =2%
16000

Therefore, the shopkeeper had a gain of 2% on the whole transaction.

6. During a sale, a shop offered a discount of 10% on the marked prices of all the items. What would a

customer have to pay for a pair of jeans marked at Rs.1450and two shirts marked at Rs.850 each?

Ans. Rate of discount on all items = 10%

Marked Price of a pair of jeans = Rs.1450 and Marked Price of a shirt = Rs.850 Discount on a

pair of jeans

Rate x MP._10x1450
100 100

S.P.ofapairof jeans=Rs.1450-Rs.145=Rs.1305

= Rs.145

Marked Price of two shirts = 2 = 84() = Rs.1700

Discount on two shirts = Rate x M.P. » 101700

100 100
S.P.oftwoshirts=Rs.1700—Rs.170=Rs.1530

= the customer had to pay = 1305 +1530

= Discount on a pair of jeans

Rate x MP.  10x1450
100 100

= Rs.145

S.P. of a pair of jeans
= Rs.1450 — Rs.145 = Rs.2,835

Thus, the customer will have to pay Rs.2, 835

=Rs.170

7. Amilkmansold two of hisbuffaloes for Rs.20,000 each. Onone hemade again of 5% and on the other



alossof 10%. Find hisoverall gainor loss. (Hint: Find CP of each)
Ans. S.P. of each buffalo = Rs.20,000

S.P.oftwobuffaloes= 20,0002 =Rs.40,000

One buffalo is sold at 5% gain.
Let C.P. be Rs.100, then S.P. =100 + 5 = Rs.105
"." WhenS.P.isRs.105,thenC.P.=Rs.100 . .

100
105

When S.P.isRs.1,then C.P. =

When S.P. is Rs.20,000, then C.P.

h, X w 20000 =Rs.19,047.62

]

-

Another buffalo is sold at 10% loss.

Let C.P. be Rs.100, then S.P. = 100 — 10 = Rs.90

When S.P. is Rs.90, then C.P. = Rs.100

100
o0

When S.P. is Rs.1, then C.P.=

When S.P. is Rs.20,000, then C.P.

100 = 20000 =Rs.22,222.22
90

Total C.P. = Rs.19, 047.62 + Rs.22, 222.22
= Rs.41, 269.84
SinceC.P.>S.P.

Therefore here it is loss.



Loss = C.P. S.P.

= Rs.41, 269.84 — Rs. 40,000.00 = Rs.1, 269.84

The overall loss of milkman was Rs.1269.84

8. ThepriceofaTVisRs.13,000. Thesalestaxchargedonitisattherateof12%. Find the amount that
Vinod will have to pay if he buysit.

Ans.C.P.=Rs.13,000and S.T.rate=12% Let
C.P.be Rs.100, then S.P. for purchaser

=100 + 12 =Rs.112

" WhenC.P.isRs.100,thenS.P.=Rs.112 ..

112
100

When C.P.isRs.1, then S.P. =

When C.P is Rs.13, 000, then S.P. =

112
— x13000 =Rs.14, 560

100

He will have to pay Rs.14, 560.

9. Arunbought a pair of skates at a sale where the discount given was 20%. If the amount he

paysisRs.1, 600, find the marked price.

Ans. S.P. = Rs.1,600 and Rate of discount = 20%

Let M.P. be Rs.100, then S.P. for customer = 100 — 20 = Rs.80
" WhenS.P.isRs.80,thenM.P.=Rs.100 . .

100
&0

When S.P. isRs.1, then M.P. =



When S.P. is Rs.1600, then M.P.

—lﬂ #1600 =Rs.2,000
20

Thus, the marked price was Rs.2,000

10. I purchasedahair-dryerforRs.5,400including8% VAT. Find thepricebefore VAT was added.

Ans. C.P. = Rs.5, 400 and Rate of VAT = 8%

Let C.P. without VAT is Rs. 100, then price including VAT =100 + 8 = Rs.108

"." Whenprice including VAT isRs.108, then original price =Rs.100 .".

100

When price including VAT is Rs.1, then original price = _c—
108

100
When price including VAT is Rs.5400, then original price= —— =340 =Rs.5000
10
Thus, the price of Hair Dryer before the addition of VAT was Rs 5000

11. Anarticlewaspurchased for Rs. 1239 including GST of 18%. Find the price of the article before
GST wasadded?

Ans. Given, GST = 18%
CostwithGSTincluded=Rs.1239
Cost without GST = xRs.

X + (18/100X  x) = 1239

Costbefore GST+GST =costwith GST x + (9x/50) =1239

X =1050

Price before GST = 1050 rupees



Ex.8.3

1. Calculate the amount and compound interest on:

(a) Rs.10, 800for3yearsat 17 l 0, per annum compoundedannually.
g

1
(b) Rs.18,000for2 — yearsat10% per annum compounded annually.
2

|

(c) Rs.62,500 for 1 — yearsat 8% perannum compounded annually.
g,

(d) Rs.8,000 for 1 yearsat 9% perannum compounded halfyearly. (You could the year by year
calculation using S.1. formula to verify).

(e) Rs.10, 000 for 1 years at 8% per annum compounded half yearly.

Ans. (a) Here, Principal (P) = Rs. 10800, Time (n) = 3 years, Rate

1 25
of interest (R) = 129 =194
Te—
Amount (A) = Pp _-‘1+in:-
.~ 100)
_ s oL ~l_:“- _ 7 1 =_I3
=10800{ 1+—=>_ | = 10800 14— |
. 2x100) L x4 )
=10800/ 14 | = 10800] - |
- 10800x 2xox2
g 8 8

= Rs. 15,377.34 (approx.)
Compound Interest (C.1.) = A-P

=Rs. 10800 — Rs. 15377.34 = Rs. 4,577.34



years, Rate of interest (R)

(b) Here, Principal (P) =Rs. 18,000, Time (n) =

=10% p.a.
Amount (A) = g __,1 + i ’
. 100/

-
b -

= 18000/ 1+ 2 = 18000/ 1+ 1|
" 100 " 10)

-

3 i 11 11
e L 771 = 18000x —=x—
ISDDDAID;! 10 10

=Rs. 21,780

E

years on Rs. 21,780 at rate of 10% =

Interest for —
=

Total amount for years

)1
s 2
=Rs. 21,780 + Rs. 1089 = Rs. 22,869

Compound Interest (C.1.) = A -P
= Rs. 22869 — Rs. 18000 = Rs. 4,869

(c) Here, Principal (P) = Rs. 62500, Time ()= 1—
e

yearly)

|

Amount (A)= P f1+
L 100

L

|
Pl
-

-
=
-

= 62500/ 14— |
100
1".:3

62500 1+—
: 15 |

2117
21780x10x1 _ oo
100
1 3
years = 3 years (compounded half

-

Rate of interest (R) = 8% = 4% (compounded half yearly)



T
= 62500/ 28|
L s

(O]
" S

26 26 26
= 62500 x —x—x
25 25 2%

= Rs. 70,304
Compound Interest (C.I1.) = A—P
= Rs. 70304 — Rs. 62500 = Rs. 7,804

(d) Here, Principal (P) =Rs. 8000, Time (n) = 1years =2 years(compounded halfyearly) Rate

of interest (R) =9% = %5 (compounded half yearly)

2 |

- - K

Amount (A) = p f1+£'
. 100
7 9 . 1N
= 8000 1+ | = 8000} 1+ —— |
" 2x100 L 20
B ?
= 2000 R |
200
7 7
= SDDDK'—[:IQK&
200,200
=Rs. 8,736.20

Compound Interest (C.1.) = A -P
= Rs. 8736.20 — Rs. 8000
= Rs. 736.20

(e) Here, Principal (P) = Rs. 10,000, Time (n) = 1 years = 2 years (compounded half yearly) Rate

of interest (R) = 8% = 4% (compounded half yearly)

p i &
100



Amount (A) =

= 10000/ 1+
" 100

. -
—

1“‘
1

k

75 |

-

= 10000 1+

L9

I.-" 26"‘..:

T

o
e

% 2
= IDDDDxﬁxﬁ

L T

10000

=Rs. 10,816
Compound Interest (C.1.) = A -P

=Rs. 10,816 — Rs. 10,000 = Rs. 816

2. Kamala borrowed Rs.26, 400 from a Bank to buy a scooter at a rate of 15% p.a. compounded

yearly. What amountwill she pay atthe end of 2 yearsand 4 monthsto clear theloan?

(Hint: Find Afor 2 yearswith interestiscompounded yearly and then find Sl on the ond year amount for

4
5 years).

Ans. Here, Principal (P) = Rs. 26,400, Time(n) = 2 years 4 months, Rate of interest (R) = 15% p.a.

- - H

Amount for 2 years (A) = P : l_l_i i

. 100
- (sl ¥ ")
26400 1+ — | 26400 1+— |
. 100, L 20)

(23 23 23

= 25_1[][]: :'_S' = 26400}{%;»:%



=Rs. 34,914

34914 <151
100

1
Interest for 4months = — = —  years at the rate of 15% =
12 3

=Rs. 1745.70
Total amount = Rs. 34,914 + Rs. 1,745.70

= Rs. 36,659.70

3. Fabina borrows Rs.12,500 per annum for 3 years at simple interest and Radha borrows the same
amount for the same time period at 10% per annum, compounded annually. Who pays more interest and
by how much?

Ans. Here, Principal (P) = Rs.12, 500, Time (T) = 3 years, Rate of interest (R)
=12% p.a.

Simple Interest for F PxR =T
100
= 125DDK12K3 = Rs. 4,500
100
Amount for Radha, P=Rs. 12,500, R=10%and 71 = 3years
Amount (A) = p "f1+£~;
. 100
= 12500{ 14 -2 | = 12500 1+ L |
100 10
= 12500( 11 = 12500% - x 21
10 10 10 10
= Rs. 16,637.50

C.l. forRadha=A—-P

= Rs. 16,637.50 — Rs. 12,500 = Rs. 4,137.50
Thus, Fabina pays more interest

=Rs. 4,500 — Rs. 4,137.50 = Rs. 362.50



4. IborrowsRs.12, 000fromJam shedat6% perannumsimpleinterestfor2years.Had | borrowed this

sum at 6% per annum compound interest, what extra amount would | have topay?
Ans. Here, Principal (P) =Rs.12,000, Time (T) = 2 years, Rate of interest (R) = 6% p.a. Simple Interest

PxR =T
100
12000262

100

=Rs. 1,440
Had he borrowed this sum at 6% p.a., then

Compound Interest = P "J1+£h?:: _P
\ IUDf

= :- 6 M.':

12000 1+— | —12000

\ IDDJ!

=
L

c IZDDDTL+f%i ~12000

=

- L

- 1:000j§%j ~12000

_ 5353

= 12000%22 %22 ~12000
50 50

= Rs. 13,483.20 — Rs. 12,000

= Rs. 1,483.20

Difference in both interests

=Rs. 1,483.20 — Rs. 1,440.00 = Rs. 43.20
Thus, the extra amount to be paid is Rs.43.20

5. VasudevaninvestedRs.60, 000ataninterestrateof12% perannumcompoundedhalf yearly. What
amount would he get:
(i) After 6months?



(ii) after lyear?

Ans. (i) Here, Principal (P) = Rs. 60,000, Time (n) = 6 months = 1 year(compounded half yearly)
Rate of interest (R) =12% = 6% (compounded half yearly)

Amount (A) = p 1+i\. -
100

- 1

S

- 60000 1+i
\ 100

LS

. 50000f1+%3

= Rs.63,600

After 6 months VVasudevan would get amount Rs. 63,600.
(i1) Here, Principal (P) = Rs. 60,000,
Time (n) = 1 year = 2 year(compounded half yearly)

Rate of interest (R) = 12% = 6% (compounded half yearly)

Amount (A)= P 1+im
100 )

= 60000 1+-2_ |
. 100

§
'
-

L

= 60000 1+ |

HDE



=Rs. 67,416

After 1 year Vasudevan would get amount Rs. 67,416.

6. Ariftookaloan ofRs.80, 000 fromabank. Ifthe rateofinterestis 10% perannum, find the

difference in amounts he would be paying after 1 iyear iftheinterestis:

(i) Compounded annually.

(ii) Compounded halfyearly.

Ans. (i) Here, Principal (P) = Rs. 80,000, Time (n)=

Amount for 1 year (A)= P ;J1+£~:
. 100
& w1
- 80000 1+£'
. 100
' 1 ".I].
- 80000, 1+— |
. 10)
£ 1131
= 80000/ ==
.10
= Rs. 88,000
Interest for l year = 88000x10x1
2 1002

=Rs. 4,400
Total amount = Rs. 88,000 + Rs. 4,400 = Rs. 92,400

(i)Here, Principal (P) = Rs.80, 000,

11 years, Rate of interest (R) = 10%

-



Time (n) = 11 year = 3/2 years (compounded half yearly)
¥

Rate of interest (R) = 10% = 5% (compounded half yearly)

-

Amount (A) = P _,1+ R

“ 100
- 80000| 14— |
" 100
: (. 1)
20000/ 1+ — |
L 20)
_ (21)
= 80000 == |
.20
¥ ¥ ¥
= 80000x 2L 21 2
20020 20
=Rs. 92,610

Difference in amounts

=Rs. 92,610 — Rs. 92,400 = Rs. 210

7 . Mariainvested Rs.8,000inabusiness. Shewould be paid interestat 5% perannum compounded
annually. Find:
(i) Theamount credited against her name at the end of the second year.

(ii) The interest for the third year.

Ans. (i) Here, Principal (P) = Rs. 8000, Rate of Interest (R) = 5%, Time (n) = 2 years

Rx;

Amount (A) = p :;1+
\ 100 )

-
- '

= 8000 1+ !
" 100

L -



-
1“

= 8000 1+—
. 20)
IR
- 8000 '—1
. 20)
7 7
= SDDDK-—IK-—I
20 2
= Rs. 8,820
(ii) Here, Principal (P) = Rs. 8000, Rate of Interest (R) = 5%, Time | :I = 3 years Amount
R Y
A) = Pll+—|
S . 100}
= 8000 1+— |
. 100)
A 1
= 8000 1+— |
. 20)
a1
- 8000 '—1
.20
v, 7 g
= SDGDx'lx'lx'l
20020 20
=Rs. 9,261

Interest for 3" year = A — P

=Rs. 9,261 — Rs. 8,820 = Rs. 441

8. Find the amount and the compound interest on Rs.10, 000 for 1; years at 10% per annum,



compounded half yearly. Would this interest be more than the interest he would get if it was

compounded annually?

Ans. Here, Principal (P) = Rs. 10000, Rate of Interest (R) = 10% = 5% (compounded half yearly)
Time (n)= - 1% years = 3 years (compounded halfyearly)

~ B

Amount (A) = p l+£

100
= 10000 1+—
. 100
L N
10000 1+— |
" 20)
1™
IDGDD —
20'
g g g
= IUDDDK—IK—]K-—I
20 20 20
=Rs. 11,576.25

Compound Interest (C.l1.) = A -P

=Rs. 11,576.25 - Rs. 10,000 = Rs. 1,576.25

If it is compounded annually, then

Here, Principal (P) = Rs. 10000, Rate of Interest (R) = 10%, Time (n) = 11 years
2
Amount (A) for 1 = LRV
year= p 14
. 100
= 10000, 1+£

100 )

.



roop!
= 10000 1+— |
o 10)

.

sga sl
= 10000 E
10
= IUDDDKE
10
= Rs. 11,000
Interest for lyear: HDDGKIKID:RS.SSO
2 2100

.. Total amount = Rs. 11,000 + Rs. 550

= Rs. 11,550

Now, C.I. = A—-P =Rs. 11,550 — Rs. 10,000
=Rs. 1,550

Yes, interest Rs. 1,576.25 is more than Rs. 1,550.

9. Find theamountwhich Ramwill get on Rs.4,096, if he gave it for 18 monthsat 12 % %

perannum, interest beingcompounded halfyearly. Ans. Here,

Principal (P) = Rs. 4096,
Rate of Interest (R)= 12

= 25 (compounded halfyearly)
0

4

1
Time (n)=18 months= ] — vyears = 3 years (compounded half yearly)
%y

R

100

Amount (A) = P '-f1_|_

e



= 4096 14—
| %100
_ 1y
4096/ 14— |
Lo 44
i 4095'11;
- 4096x 0 LT 1T
16 16 16
=Rs. 4,913

10. The population ofaplace increased to54,000in 2003 at a rate of 5% perannum.
(i) Find the populationin 2001.
(ii) What would be its population in 2005?

Ans. (i) Here, A2003 = Rs. 54,000, R = 5%, # = 2years

Population would be less in 2001 than 2003 in two years. Here

population isincreasing.

-

i R
A2003 = Pgg; | 1+ —
v 100 )
l.-" 5 "'-_I:
=> 54000= P, 14— |
=\ 0
_" 1 "'.:..
— 54000= P, 1+—
. 20%
= 54000 = _-’Frl‘-.:
Pror : ﬁ |
=5 54000 = 212
Py ¥ — % —

20 20



24000= 20= 20

21x21

= P:_'-.'l =

=48,979.5

— P:_'-_'l = 48,980 (approx.)
(i1) According to question, population is increasing. Therefore population in 2005,

A2005 = P 1+£:
100 )

LY

—
=
- . b

= -4mm 4
100

LS

= 54000/ 14— |
. 20 |

-
L -

’ (21
= 54000, = |
.20

71 9
= 34000 K—l -—1
20 20

= 59,535

Hence population in 2005 would be 59,535.

11. Inalaboratory, the count of bacteriain acertain experiment was increasing at the rate of 2.5%o per

hour. Find the bacteria attheend of 2 hoursif the count was initially 5, 06,000.
Ans. Here, Principal (P) = 5,06,000, Rate of Interest (R) = 2.5%, Time (n) = 2 hours After 2

hours, number of bacteria,

Amount (A) =P 1+£]-
L 100

LY



-

3 -

= 306000 1+ |
100

-

f oI
= A06000 1+ — |
. 100

|
=

-

= 506000/ 1+ L |
40

= sp6000 2L |
.20 )

= 506000 :=f~:ﬂ xﬂ
40 40

5, 31,616.25
Hence, number of bacteria after two hours are 531616 (approx.).

12. AscooterwasboughtatRs.42,000. Itsvaluedepreciated atthe rate 0of8% per annum. Find its
value after one year.

Ans. Here, Principal (P) = Rs. 42,000, Rate of Interest (R) = 8%, Time (n) = 1 years

Amount (A) =p "Jl_i .
.~ 100
Fa %1
42000 1 -2 |
. 100

LS -

a1
42000 1+— |
: 245 |

sl

42000, — |
L 2% |

Ly -

7
42000 x ==

215



= Rs. 38,640

Hence, the value of scooter after one year is Rs. 38,640.



